2022 TE Connectivity. ALl Rights Reserved.

SECTTON A-A

SW T

D

REVISTONS

A INFTIAL REVISION

21FEB2022 | KR RM

= M EN 604723 =

TCPA - ?Py%deUﬁ ) TL 4| @0 | Swi| swp | tlgmping Range
Entiolec) N 604723 @D min - max

1ISNG60200TKR0000 | EM-SG-M12-ME T -A M1/7%x71.5 5.0 /7.7 15.5 14 I /.0 - 5.0
1ISNG60200/2K0000 | EM-SLG-M12-ME T -B M1/%x71.5 17.0 /7.7 15.5 14 I /.0 - 5.0
1ISNG60Z2003R0000 | tM-SG-M12-Me T -C M1/%x 7.5 5.0 /7.7 15.5 14 I 3.0 - 6.5
1ISNG602004K0000 | tM-SG-M12-Me | -U) M1/x71.5 17.0 27 .7 15.5 14 I 3.0 - 6.5
1ISNG602005R0000 | EM-5SG-M16-ME | -A M16x 1.5 /.0 /3.3 /0.0 1/ 18 /.0 - 6.0
1ISNG60Z2006KR0000 | EM-SLG-M16-ME T -B MT16x 1.5 17.0 /3.3 /0.0 1/ I /.0 - 6.0
1ISNG60OZ00 /KO000 | EM-SG-M16-ME T -C MT16x 1.5 /.0 /7.9 /7.0 /0 /0 3.0 - /.0
1ISNG60Z2008R0O000 | EM-SG-M16-ME [ -D M16x 1.5 17.0 2.9 /7.0 /0 /0 3.0 - /1.0
1ISNG60Z2009K0000 | EM-5SG-M16-ME | -t M16x 1.5 /.0 /3.3 /0.0 1/ 18 L.0 - 0.0
1ISNG602010K0000 | EM-SG-M16-ME | -1 MT16x 1.5 17.0 /3.3 /0.0 1/ 18 L.0O - 6.0
1ISNG60Z20TIKRO000 tM-SG-M16-Me -0 M16x 1.5 5.5 9.4 /7.0 /0 /0 5.0 - 10.0
1SNG60Z2012R0000 | EM-SG-M16-Mt | -H M16x 1.5 /.0 2.9 /7.0 /0 /0 5.0 - 10.0
1ISNG60Z20T3R0000 tM-S6-M16-Mt | - MT16x 1.5 17.0 /9.4 /7.0 /0 /0 5.0 - 10.0
1ISNG602014K0000 | EM-SG-MZ20-ME T -A M7 0x7T.5 5.0 /6.0 L5 )/ )/ 5.0 - 9.0
1ISNG602015R0000 | EM-SG-MZ20-ME T -R MZ20x71.5 17.0 /6.0 L5 )/ )/ 5.0 - 9.0
1SNG60Z2016R0000 | tM-SG-MZ20-ME | -L MZ20x71.5 5.0 245 245 /7 /7 5.0 - 12.0
1ISNG6020T/RO000 | EM-SG-MZ20-Mt | -0 MZ20x71.5 17.0 2L b 245 )/ /7 5.0 - 17.0
1ISNG602016K0000 | EM-SG-MZ0-ME | -t M7 0x7T.5 5.0 /8.5 /6.5 /L /1 /.0 - 13.0
1ISNG602019K0000 | EM-SG-MZ20-Me | -+ M7 0xT.5 5.0 6.0 76.5 /L /1 10.0 - 14.0
1ISNG602020R0000 | EM-SG-MZ20-Mte T -G MZ20x71.5 17.0 6.0 6.5 /L /b 10.0 - 14.0
1ISNG60202TR0000 | EM-SG-MZ5-ME | -A M75%71.5 5.0 /6.0 50.0 /L /] /.0 - 17.0
1ISNG60202/2K0000 | EM-SG-MZ5-ME | -B M75%7.5 17.0 /6.0 50,0 /L /] /.0 - 17.0
1ISNG602023R0000 | EM-SG-MZ25-ME T -C M75%71.5 5.0 37.8 33.0 30 30 9.0 - 16.0
1ISNG60OZ2024R0000 | tM-SG-MZ5-Me |- M7Z5x7.5 17.0 37.8 33.0 50 30 2.0 - 16.0
1SNG602025R0000 | EM-5SG-MZ5-Mt I -E M75%71.5 5.0 /6.0 50.0 /L /] 10.0 - 14.0
1ISNG602026R0000 | EM-SG-MZ5-ME [ -F M75%7.5 17.0 /6.0 50,0 /L /] 10.0 - 14.0
1ISNG60202/KO000 | EM-SG-MZ5-Me -0 M75%71.5 5.0 30.6 30,0 /) /] 1.0 - 17.0
1SNGo02026R0O000 | EM-SG-MZ5-ME T -H M7Z5x7.5 17.0 30.6 50.0 /'] /'] 1.0 - 1/7.0
1ISNG60Z2029K0000 | EM-5G-MZ5-ME | -] M75%71.5 5.0 37.8 33.0 50 50 15.0 - 18.0
1ISNG602030R0000 | EM-SG-MZ5-ME T - M75%71.5 17.0 37.8 33.0 30 30 15.0 - 18.0

5 1 0-RING NBR

L 1 METAL GLAND CAP Brass (Nickel plated)

3 1 SEAL CR

T WAL LA B0 f T f

RPT | ATY DOC TITLE DRAW ING NUMBER MATERTAL COMMENTS

it o ed B SR

m ; EEEEEEEEE | ::%%EESGS’PECMOM%FEBQOZQ NAMEMSTDGLANDBRASS
=1 : AT B - _
T L A 1100779 (C=1SNP061344-0100 -
: 2 T

REF. TABLE

CUSTOMER DRAW ING

EEEEEEEEEE

5



http://www.arrow.com

It Product

M

Llamping Range

REVISTONS

A INFTIAL REVISION

21FEB2022 | KR RM

TLPN (EQ*EF@) N 60403 1L n D SW S/ o
1SNG60Z03TRO000 "M-50-M3Z2-MET-A M3ZxT.5 5.0 37.0 /.5 30 Ik 5.0 - 16.0
1SNG60Z2032R0000 FM-56-M32-Me [-B M37xT.5 15.0 370 37.5 30 Ik 9.0 - 16.0
1SNG60Z2033R0000 FM-56-M3Z2-Me T-L MIZx 1.5 5.0 b Li .5 4O 40O 12.0 - 20.0
1SNG60Z034R0000 "M-50-M372-Me -0 M3ZxT.5 15.0 b bi .5 4O 40O 12.0 - 20.0
1SNG60Z2035R0000 "M-50-M372-Me -t M3ZxT.5 5.0 37.0 /.5 30 Ik 13.0 - 16.0
1SNG60Z2036R0000 FM-56-M37-Mt | -F M37xT.5 15.0 370 37.5 30 b 13.0 - 13.0
1SNG60Z203/R0O000 FM-56-M372-Mt -0 MIZxT.5 3.0 36.7 /.5 3h b 15.0 - 21.0
1SNG60Z2033R0O000 "M-50-M3/2-Mt T -H M3ZxT.5 15.0 30.7 /.5 3h 3h 15.0 - 21.0
1SNG60Z2039R0000 CM-50-M372-Me [ -] M3ZxT.5 5.0 bl .7 hh .5 L0 4O 16.0 - 25.0
1SNG60Z2040R0000 FM-56-M372-Me -] M3ZxT.5 15.0 bl .7 Li .5 L0 4O 16.0 - 25.0
ISNGE0Z204TR0O000 FM-56-MLO-MET-A MLOxT.5 5.0 38.6 L3 .5 L0 b3 12.0 - 20.0
1SNG60Z2042R0000 "M-50-M4O-MET -8 MLOxT.5 15.0 38.6 L3 .5 4O b3 12.0 - 20.0
1SNGO60Z2043R0000 "M-50-M4O0-MET-L MLOXT.5 5.0 38.0 L35 L0 L3 16.0 - 25.0
1ISNG6OZ2044R0O000 -M-56-M&LO-MET-U MLOXT.5 15.0 38.6 L3 .5 L0 L 3 16.0 - 25.0
1SNGO6OZ045R0000 "M-50-MLO0-MET-£ MLOxT.5 5.0 k3.3 L3 .5 b3 L3 16.0 - 23.0
1SNG60Z2046R0000 “M-50-MLO0-MET-F MLOxT.5 15.0 L33 L3 .5 b3 L3 16.0 - 23.0
1SNG60Z204/RO000 -M-56-M4O0-MET-0 MLOXT.5 5.0 L33 L8.5 b3 b3 19.0 - 26.0
1SNG60Z20438R0O000 -M-56-M&40-MET-H MLOxT.5 15.0 k3.3 L3 .5 b 3 b 3 19.0 - 26.0
1SNG6OZ2049R0000 "M-50-MLO-ME T - MLOxT.5 5.0 2/ .0 555 >0 U 22.0 - 32.0
1SNGO6OZ050R0000 "M-50-M4O-MET-J MLOXT.5 15.0 270 5.5 >0 U 2.0 - 32.0
1SNG60Z05TR0000 FM-56-M50-ME [ -A M50x1.5 5.0 LT .8 51.0 >0 55 20.0 - 26.0
1SNG60Z2052R0000 FM-56-M50-Me [-B M50x 1.5 15.0 e 51.0 >0 55 /0.0 - 26.0
1SNG60Z2053R0000 "M-506-M>0-ME T-L M50x1.5 5.0 e 51.0 >0 B 2.0 - 32.0
1SNGO60Z054R0000 "M-506-M50-Me T -0 M50x 1.5 15.0 e 51.0 >0 o0 2.0 - 32.0
1SNG60Z2055R0000 FM-56-M50-Mt T -t M50x1.5 5.0 51.9 64 .0 ol o0 21.0 - 368.0
1SNG60Z2056R0000 FM-56-M50-Mt | -F M50x 1.5 15.0 51.9 64 .0 50 >0 2.0 - 38.0
1SNG60Z205/R0O000 "M-50-M50-MEt -0 M50x1.5 5.0 SYANG 10.0 ol 04 3.0 - 440
1SNG60Z2053R0000 FM-56-M50-Mt [ -H M50x 1.5 15.0 57 .0 70.0 ol ol 3.0 - 440
1SNGS0Z2059R0000 -M-56-M63-ME [ -A ME3IxT.5 10.0 53.0 /5.0 ol 63 /9.0 - 35.0
1SNG6E0Z2060R0000 "M-50-M63-Me [-B ME3IXT.5 14,0 SYANG /5.0 64 63 /9.0 - 35.0
1SNG60Z206TR0O000 "M-56-M63-MET-L ME3IxT.5 16.0 SYANG /5.0 ol 63 /9.0 - 35.0
1SNG602062R0000 FM-56-M63-Me | -0 ME3xT.5 10.0 53.6 /5.0 ol ole 3.0 - 440
1SNG60Z2063R0000 FM-56-M63-ME T -t ME3IxT.5 15.0 53.0 /5.0 ol 00 3.0 - 440
1SNG6OZ2064R0000 FM-50-M63-ME [ -1 ME3IXT.5 14,0 SYANG /5.0 04 03 3.0 - 440
1SNG60Z2065R0000 "M-50-M63-ME -0 MO 3IxT.5 16.0 SYANG /5.0 04 03 3.0 - 44.0
1SNG60Z2066R0000 FM-56-M63-Mt T -H ME3IxT.5 10.0 50 ./ 33.0 75 75 3/.0 - 53.0
1SNG60Z206/RO000 FM-56-M63-ME [ -] ME3IxT.5 16.0 51,7 33.0 75 75 3/.0 - 53.0

0-RING

NBR

METAL GLAND CAP

Brass (Nickel plafed)

N | Ly | = | Ul

LN LN L N

SEAL

CR

PLASTIC INSERT

PAG V2

1

1

METAL GLAND BODY

Brass (Nickel plafed)

RPT

ATy

DoC TITLE

DRAW ING NUMBER

MATERTAL

COMMENTS

THIS DRAWING IS A CONTROLLED DOCUMENT.

DWN 2MFEB2022
Rajan n., Kas
21FER2022

EEEEEEEEEEEEEEEE
EEEEEEEEEEEEEEEEEE

=1

bt b

AAAAAA

CHK
Rafeeq, Mohd

=TE

TE Conne

ctivity

. APVD
Rafeeq. Mohd

PPPPPPPPPPP

M-STD-GLAND-BRASS
APPLICATION SPEC

21FEB2022 |nave

MfSTDfGLANDfB@ASS

MATER AL
REF. TABLE

\\\\\\

REF. TABLE

A

EEEEEEEEEEEEEEEEE

00779 [(G=1SNP061344-0100

CUSTOMER DRAW ING

EEEEEEEEEE

5



http://www.arrow.com

	Sheet 1
	Views
	new_view_1
	new_view_2
	bottom_3


	Sheet 2

